Calc Il Final Exam Review G.Buthusiem

1. Find the equation of the plane through points (2,1,1), (0,4,1), and (-2,1,4).

2. Find the velocity and position vectors of a particle with a(f) = (O,t,t) and with given initial conditions
v()=5j and r(1)=0.

3.j Find % implicitly for xz+yz+xy =0

4. Given flx,y)=x +3y? Find the derivative in the direction of maximum increase at point (1,0,1).
5. Find the equation of the tangent plane and normal line to the surface xyz =12 at (2,-2,-3).
6. Evaluate the double integral by converting to polar coordinates:

Hsin x2+y2dA where R={(x,y)'0$x$2,0$y3\/4—x2}
R

7.1s F(x,y)= <2xy,x2> conservative? If so prove it and find the potential function f such that V/ =F

: gt 2.
then integrate F over the curve r()=f+rj 0<r<l

9 pyi3 pfy?-9xt
8. Evaluate the iterated integral: IO J-Oy LJJ zdzdxdy
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